
 

  

APRIL 2021               51119/SER6B/TEC6A 

Time : Three hours                          Maximum : 75 marks 

PART A — (10  2 = 20 marks)  

Answer any TEN questions each in 30 words 

1. What is a microprocessor? 

 ~sö\¯¼ GßÓõÀ GßÚ? 

2. What are the functions of an accumulator? 

 vÓmi°ß ö\¯À£õkPÒ ¯õøÁ? 

3. Mention a few branches of group instructions. 

 SÊ TØÖUPÎß ]» QøÍPøÍU SÔ¨¤kP. 

4. What is machine language? 

 G¢vμ ö©õÈ GßÓõÀ GßÚ? 

5. What do you understand from the timing diagram 
of a particular instruction? 

 J¸ SÔ¨¤mh PmhøÍ°ß ÷|μ Áøμ£hzv¼¸¢x } 

AÔÁx ¯õx? 

6. Write about the instruction MOV sd RR ,  

 MOV sd RR , ,PmhøÍø¯¨ GÊxP. 
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7. Mention the different modes in PPI 8255. 

 PPI 8255–À öÁÆ÷ÁÖ •øÓPøÍU SÔ¨¤kP. 

8. Write the control logic unit in 8255. 

 8255–À EÒÍ Pmk¨£kzx® uºUP A»øP GÊxP. 

9. Name the interrupts of 8085. 
 8085–ß Cøh©õÔPÎß ö£¯ºPøÍ u¸P. 

10. What do you know about “SIM” instruction? 
 “SIM”PmhøÍø¯¨ £ØÔ }Âº AÔÁx GßÚ? 

11. Write down the function of a control bus. 
 Pmk¨£õmk £õøu°ß ö\¯ø» GÊxP. 

12. What is meant by immediate addressing modes? 
 EhÚi •PÁ›°hÀ £õ[S GßÓõÀ GßÚ? 

PART B — (5  5 = 25 marks)  

Answer any FIVE questions each in 200 words 

13. Describe the conditions of flags in a 
microprocessor. 

 ~s ö\¯¼°À EÒÍ öPõiU SÔPÎß {ø»ø¯ 

ÂÁ›. 

14. Write an ALP to find the smallest number in a 
given array. 

 öPõkUP¨£mh GsPÎ¼¸¢x ªPa]Ô¯ GsønU 

PshÔÁuØPõÚ ALP ö\¯À vmhzøu GÊxP. 



 

                                              51119/SER6B/TEC6A 3

15. Explain memory interfacing with 8085. 

 8085²hß {øÚÁP •PÂøh¯õUPø» ÂÍUSP. 

16. Explain the interfacing of input port to 8085. 

 8085–UPõÚ EÒÏmk •øÚ¯zøu •PÂøh¯õUS® 

ö\¯ø» ÂÍUSP. 

17. Distinguish between hardware and software 
interrupts. 

 Áßö£õ¸Ò ©ØÖ® ö©ßö£õ¸Ò Cøh©ÔPøÍ 

÷ÁÖ£kzxP. 

18. What are logical instructions? How they are 
carried out in 8085 programming? 

 uºUP PmhøÍPÒ GßÓõÀ GßÚ? AøÁPÒ GÆÁõÖ 

8085 ö\´ {μ¼À £¯ß£kzu¨£kQÓx. 

19. Explain about the RAM interfacing. 

 RAM •PÂøh¯õUPÀ £ØÔ ÂÍUSP.   

PART C — (3  10 = 30 marks) 

Answer any THREE questions each in 500 words 

20. Draw the pin diagram of 8085, explain the 
functions of different pins. 

 8085&ß •øÚ Áøμ£h® Áøμ¢x £À÷ÁÖ 

•øÚPÎß ö\¯ÀPøÍ ÂÍUSP. 
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21. What do you mean by an assembly language? 
Write an assembly language program for adding 
two hexadecimal numbers and display the sum at 
the LED output port PORT 1. 

 vμmk ö©õÈ £ØÔ }Ãº AÔÁx GßÚ? Cμsk 

£vÚõÓi©õÚ GsPøÍ Tmi Auß Tmkz 

öuõøP°øÚ öÁÎ±k Áõ°¼À PõmkÁuØPõÚ 

vμmk ö©õÈ ö\´ {μø» GÊxP. 

22. Draw the timing diagram of instruction MOV 
sd RR , and MVI R, 8-bit data and explain. 

 PmhøÍPÒ MOV sd RR , ©ØÖ® MVI R, 8-bit uμÄ ÷|μ 

Áøμ£h® Áøμ¢x ÂÍUSP. 

23. Explain the functions of programmable peripheral 
interface 8255. 

 {μÀ£k ¦Ó •SÂøhÁõUP 8255&ß ö\¯Ø£õkPøÍ 

ÂÍUSP. 

24. What is RIM? Discuss the bit pattern of the 
accumulator for RIM instruction. 

 RIM GßÓõÀ GßÚ? RIM PmhøÍUPõÚ vμmi°ß 

¤m ÁiÁzøu ÂÁõv. 
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